MAT 230, Exam #1, Pa:j I, Spring 2017 Name K'E:\r

Instructions: Show all ‘ork, and provide exact answers. For full credit will be given to the steps shown
than for the final answer. Be sure to provide thorough explanations. On this portion of the exam, no
calculator is permitted.

1. Consider the graph of the piecewise function f(x) below and use the graph to answer the
questions that follow. (a-I: 2 points each)

a. xEr_nﬁf(x) = 2.
b lim_fGo |
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m. What can you conclude about the continuity of f(x) atx = —1,x = —3, and x = 2, based

on the calculations above? (3 points) _
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3. Use the limit definition of the derivative to find f'(x) for each f(x). (10 points each)
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4. Sketch the grapfh of a function that is not differentiable everywhere, and explain why it is not
differentiable T that point. (5 points)
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MAT 230, Exam

Instructions: Show all w
than for the final answer,
portion of the exam. If\

obtained from your calculator to show work

1. Build a table of v

X |

#1, Part |1, Spring 2017

alues to find the value of the [imit of lim (ix:—lf) (6 points)
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2. Find the average rate of change between (—=1,-7) and (3,9). (6 points)
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3. Differentiate each function. (6 points each)
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4. Use the produc
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n/of the tangent line to the graph ofy =x + f-s- atx = 1. (8 points)
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